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NEW QUESTION 1
Which of these is included in a success plan?

A. confidential customer information
B. customer business outcomes

C. customer HR processes

D. services cost

Answer: BD

NEW QUESTION 2
Which type of analytics has telemetry that shows the customer’s use of the software and defines what has happened to date?

A. descriptive
B. diagnostic
C. prescriptive
D. predictive

Answer: B

NEW QUESTION 3
Which two outcomes are expansion opportunities within customer success? (Choose two.)

A. expansion of solution features
B. renewal of solution subscription
C. purchase of a new solution

D. deployment of solution

E. expansion of solution services

Answer: AD

NEW QUESTION 4
Which two actions should the Customer Success Manager take throughout the quarter to support their customer? (Choose two.)

A. No action is necessary as long as the health index is green
B. Observe the online image of the customer

C. Review and update the success plan for ongoing activities
D. Manage the service issues and escalations

E. Join the sales and marketing strategy meetings

Answer: CD

NEW QUESTION 5

The customer plans to relocate to a new building in the existing area to reduce cost. The company wants to retain talent through this transition. Which two

business outcomes are critical to the company’s success? (Choose two.)

A. risk management

B. employee satisfaction
C. cost efficiency

D. credibility

E. sustainability

Answer: BC

NEW QUESTION 6

The customer wants to reduce their exposure to security events. Which business outcome is critical to the company’s success?
A. risk management

B. market growth

C. sustainability

D. cost efficiency

Answer: A

NEW QUESTION 7

Which expense is an operating expense (OPEX)?
A. payroll

B. computer equipment

C. software

D. office improvements

Answer: C
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NEW QUESTION 8
Throughout the customer lifecycle, opportunities can occur that lead to customers becoming advocates for the Customer Success Manager’'s company. Which two
opportunities can lead to advocacy? (Choose two.)

A. moments of success when the customer acknowledges progress
B. successful contract renewal

C. green health scores over intermittent time periods

D. continuing results based on unexpected value

E. results that are not measurable

Answer: AB

NEW QUESTION 9
Refer to the exhibit.

Chart Title

March Aprid May June iy Aug

The graph shows a customer with a software product and highlights the number of paid- for licenses (shown with the orange line) and the number of users actively
using the product (shown with the blue line). Which statement about the customer is true?

A. The customer has a high probability to renew and will include an expanded opportunity

B. The customer’s usage is too low to correctly measure the chance of their retention

C. The customer has increased usage, which shows a strong indicator of renewal

D. The customer's usage has seen a recent decline and the chance of them churning will be higher

Answer: D

NEW QUESTION 10
Which two results of a successful customer onboarding stage are the most important? (Choose two.)

A. organization chart discussed

B. account relationships identified

C. desired business outcomes discussed
D. stakeholders identified

E. network diagrams discussed

Answer: CD

NEW QUESTION 10
The customer wants to improve operational expenditure and reduce the C02 footprint of the organization. Which two business outcomes are critical to the
company'’s success? (Choose two.)

A. sustainability

B. credibility

C. time to market
D. business growth
E. cost efficiency

Answer: AE

NEW QUESTION 15

What is the best reason for documenting your customer’s success?

A. To provide awareness of the value achieved by the customer’s purchased solution
B. To establish KPI's that measure the success of your company’s business

C. To document roles and responsibilities for your project management

D. To provide expansion opportunities for your sales team

Answer: B
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NEW QUESTION 16
The Customer Success Manager notices that their customer has delayed going into production. Which action does the Customer Success Manager consider?

A. Suggest that the customer replace their existing staff

B. Provide the customer with a chargeable deployment service
C. Re-enforce the time to value of the solution

D. Give the customer a discount on a future purchase

Answer: C

NEW QUESTION 21
A large university has deployed a new IT solution designed to improve the overall student and staff experience. Which approach to measure success is the best?

A. Twice yearly student and staff surveys with two QUESTION NO:s related to IT
B. Measure the number of complaints raised by students

C. Combination of tailored surveys and IT tools-based metrics

D. Implement staff Super Users to provide feedback

Answer: B

NEW QUESTION 26
The customer wants to increase their market share and protect brands reputation. Which two business outcomes are critical to the company’s success? (Choose
two.)

A. risk management
B. credibility

C. business growth
D. cost efficiency

E. sustainability

Answer: CE

NEW QUESTION 29

The Leader of IT Certification visit - https://www.certleader.com



CertLeader.m 100% Valid and Newest Version 820-605 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/820-605-dumps.html (50 Q&As)

Thank You for Trying Our Product

* 100% Pass or Money Back
All our products come with a 90-day Money Back Guarantee.
* One year free update
You can enjoy free update one year. 24x7 online support.
* Trusted by Millions
We currently serve more than 30,000,000 customers.
* Shop Securely

All transactions are protected by VeriSign!

100% Pass Your 820-605 Exam with Our Prep Materials Via below:

https://www.certl eader.com/820-605-dumps.html

The Leader of IT Certification

visit - https://www.certleader.com


https://www.certleader.com/820-605-dumps.html
http://www.tcpdf.org

